EECS2021 Computer Organization

l Appendix

‘ Activities

| Activity 1

‘ Derive SOP and POS expressions for the
following TT.
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| Activity 1

| Derive SOP and POS expressions for the
following TT.

A B Carry Minterms Maxterms

0 0 0 AB’ A+B

0 1 0 AB A+B’

1 0 0 AB’ A+B

1 1 1 AB A+B’
SOP: Carry=AB

POS: Carry=(A+B)(A+B’)(A'+B)

| Activity 2

| Proofs of some Identities:

12b: A+AB=A+B

13a: AB+ZC+BC=AB+ZC




| Activity 2

| Proofs of some Identities:

A+AB=A+B
12b: A+ AB=A+AB+AB (A+AB=A(B+1)=A) (Using 11)
=A+B

AB+ AC + BC = AB + AC
= AB+ AC + (A + A)BC

= AB+ AC + ABC + ABC
= AB(C +1)+ AC(B +1)

=AB+ AC

13a:

| Activity 3

| Find an MSOP for

F=VWXY +VWYZ +V XYZ




| Activity 3

| Find an MSOP for
F=VWXY +VWYZ+V XYZ
—VYWX +WZ+XZ)
“VYWX+ZW + X)) W+ X =WX]
_VY(WX+ZWX) [A+AB=A+B]
—VYWX +2)
=VYWX +VYZ

Activity 4

| Given the circuit below, develop a Verilog
module for the circuit

set q
nl

qBar

cleac____ [n2




Activity 4

| Module simple_latch (q, gBar, set, clear);
input set, clear;
output q, gBar;
nand #2 n1(q,qBar,set);
nand #2 n2(qBar,q,clear);
endmodule

set q
nl

B
clear_____ |n2 qrat




